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This is sea level pressure information.
‘We need to look at this in more detail.

This is pressure change data. We
won't be worrying about this now.



Pressure data
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[image: image3.jpg]A station pressure of 927.3 mb is measured in
Tucson at 2500 ft (750 m) altitude.

Pressure drops ~1 mb for every 10 m of altitude gain
50 927.3 mb is about 750 m x (1 mb/10 m) =75 mb

lower than what would have been measured at sea level.

A 75 mb altitude correction is added to the
measured station pressure value.

927.3 mb + 75 mb = 1002.3 mb

To save space, the leading 10 and the decimal point are
dropped from this sea level pressure estimate; the

remaining numbers are plotted on the surface map.
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The pressure value plotted on a surface map starts with a measurement at a particular city or location.  This is called the station pressure.  Then an altitude correction is made.  This is necessary because pressure changes much more rapidly in a vertical direction than it does when moving horizontally.  Typical rates of change are shown below.
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Meteorologists hope to map out small horizontal pressure differences on a surface map. It is small horizontal differences in pressure that cause the wind to blow and create storms.  If corrections for altitude were not made, the large vertical changes in pressure caused by altitude would dominate and would completely hide the horizontal pressure variations.
